
 

QUESTION BANK 

GRADE 2 – MATHS 

CHAPTER 2 – ADDITION 

 

1. Fill in the blanks :- 

a. 10 + 9 = 

b. 62 + 3 = 

c. 29 + 1 = 

d. 21 ones =   ____ tens + ____ ones 

e. 8 tens + 13 ones = ____ tens + ____ ones 

f. 2 tens + 50 ones = ____ tens + ____ ones 

 

2. Add. 

a.   6  9                      b.   3  1                      c.   7                        d.    T   O   

    +    6                         + 2  9                            4                               4    7 

                                                                       + 7                            + 1    9 

 

 

e.    T  O                  f.    9  1                     g.     2    2                    h.    T    O 

       5   5                       +    8                             1    0                           5     5 

     +     3                                                      +    1    1                           2     3 

                                                                                                          +        1 

3. Arrange the number below the other and add. 

a. 58 + 41 

b. 43 + 22 + 8 

 

4. Solve the story sums. 

a. Manu has three packets of pencils. Packet one has 7 pencils; packet two has 

6 pencils and packet three has 5 pencils. How many pencils are there in all 

three packets? 

 

b. In a classroom there are 40 boys and 39 girls. How many students are there 

in the classroom in all? 



 

 

                        

                        

                        

                        

                        

                        

                        

                        

                        

                        

                        


